23

692-2
58
()
32
57
58
23
H21: 82,781 H22: 82,278 H23: 84,157
H21:177 6,670 H22:178 7,010
H23:179 8420
H22:2,000
588,667,282 150,000,000 25.5% 123,000,000 20.9
315,667,282 (536 )
23
H20 H21 H22 H23
0 0 0 0
\ 0 0 0 0
20 20 19 19
\ 1 1 1 1
2 2 4 4
\ 0 0 0 0
1 1 0 0
2 2 4 4
21 21 19 19
1 1 0 0
| 46 2,403
23 22
(A) 95,922 (95,130) 0 0)
(B) 98,639 (102,718) 0 0)
(A)-(B) 2717 ( 7588) 0 0)
2717 ( 7588) 0 0)
895 (87.9) 996  (99.5) 0 0)
97.2 (92.6) 10859  (9828) 0 0)
9.1 (10.4) 960  (955) 0 0)
23 (2.8) 960  (955) 0 0)
40 (17) 00 (0.0) 0 0
48 (6.0)
’ 0 ©)

H16 H165
H17 H17.3 15
H17.9 H179 11
H17.12 H17.12 H181
(H182
H18 H18
23
[¢] @]
[¢]
O




(A) 97,423 95,130 95,922
5,665 4,789 5,022
85,435 83735 85,461
5,560 5,734 4,634
(B) 101,020 102,718 98,639
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